First look on TOF alignment

. release 4.6.2

. GeometryModel set Aligned
3. TofModule from development
(talk to from TOF home page)

N R

Fist sample: all pt
2d sample: pt > 2 GeV/c

Used jbot4e, bhelOl, bhmulOl,..
Total: about

on CAF



TOF numbering in triplets
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Aligned geometry from DB
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What was done...

| Relative fraction of tracks seen for bar 146 |
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the averaged

Denis Usynin,
TOF minutes from June, 21 2001
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TOF misteries

“Iinefficient” channels 99-150
and 315 - 360 => bars 99 - 150
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Variables
272'/216 ~ 0.029 rad

R =138 cm
|¢in - ¢n0m| Sa



(9., - @,,.) versus Bar Number

Positive tracks

Negative tracks
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Q>0

the same with pt>10 GelV/c
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d,, for bars 97-100

¢(in) Bar =[97,100]
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b, vs R(in) for Bar [96,104]

| _iphi:inR {bar>95 && bar<105}
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Procedure

« Use Track match AFTER TOF reconstruction

« Use CdfTrack with 2 PMT hits

* Use Helix to find @ at fixed R (R was set 140 cm)
* Plot ¢ for positive & negative track

e Take ‘sharp edges’

* Calculate ¢ as a mean



O at fixed R = 140
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¢ at fixed R for bars [95, 104]

o{in) Bar =[95,104] |
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¢ at fixed R for bars [3,612]
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Fit results |

Fit example

Fitf =172 p; » { Evf( (x - [py-Pi] ) * P»)
+Erf( ([pytpd -X) *P;) }
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dfrad) vs bar number
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If we take CdfTracks with 2 PMT ...

batR=138 Bar= [6.11 [6, ]]] LatRe8 Bar=[si g | [96, 102]
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& oat R=138 Bar = [96.101] |
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| ©atR=138 Bar=[6.11] |
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+ & - ftracks for bar 98 99
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Taking N, N-1, N+1..
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Open issues:

*need to find way to
match track-tof
cavoid using TofTrackView
esimply 2 PMT seems
to be not sufficient
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